C12 - 2.7 - Poly/Root Derivatives Notes
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y = 4x y = velocity se less space
y = 12x%| y"= accelleration
y'"' =24x | y'" = jerk
Product Rule [Circle your Products*| —3x(x* +1)
= (2x+ D(3x - 2) Q2x + 1883x — 2) O w=2x+1
=6x-—x—2 y — u' =2 —3(x%?+1) + 2x(—3x)
FolLl y' =2Bx—-2)+302x+1)
y =6x—4+6x+3 v=3x—2
Q= 12x— 1> v = ~BGTFD + 2x(30))
| Quotient Rule | y, = w,] , _@
y =uv+vu =3(1(x*+ 1) + 2x(x))
y = Ca2) u=x’ x% + 3x3 1
5 u' = 2x y=——"— y=7
y' = X(Zx +1) — 2(x%) X2 x3x3 , Oxx—-1x1
(2x + 1)2 v=2x+1 y=—t+2 Y =Tm
4x2 + 2x — 2x? v =2 _ X5
y' = y=x+3x
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" 2x"+2x Y=y | Not a quotient*! |
Y (2x + 1)? u'v—v'u [Separate Fractions|
_ 2x(x + 1) Y=z
Y T 2x + 12
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